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36x° — 113x% — 35x + 150 X+ 9x% + 18x + 28

X — 6> —5x— 14 9x® — 81x

X+ x 56x° + 113x — 40x — 84
63x° + 425x% — 1198x + 720 X — 4x* — 64x + 256
6x> — 36x X — 10x% + 3x + 54
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36x° — 113x° — 35x + 150
(4x — 5)(x—3)(9x + 10)

X —6x —5x— 14
(x— 7)o +x+2)

xz +Xx
x(x+ 1)

63x° + 425x° — 1198x + 720
(7x— 8)(x + 9)(9x — 10)

6x” — 36x
6x(x — 6)

Hics:

¥+ 9%+ 18x + 28
(x+ 7)(02 + 2x + 4)

ox% — 8lx
Ox(x—9)

56x° + 113x” — 40x — 84
(8x+ 7)(x + 2)(7x — 6)

X — 4x% — 64x + 256
x+8)(x—8)(x—4)

X — 10x° + 3x + 54
x+2)x=9(x—3)
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